On Point 1, 2nd Ed. 	Unit 3		Name: __________________
I. Vocabulary
Choose the word or phrase that best completes the sentence. 
1. The government has passed a spending bill to fund the improvement of airports, roads, and other __________________.
a. infrastructure
b. eligibility
c. administration
d. restriction

2.  The teacher explained some of the ___________________ between British and American English.
a. inspections
b. distinctions
c. restrictions
d. obstacles

3. Many students get financial aid and scholarships because their families don’t have the The __________________ of evolution states that both humans and chimpanzees developed from a species that lived about 6 million years ago.to pay their tuition.
a. policy
b. assistance
c. fundswelfare
d. theory

4. A(n) __________________ of the factory found several safety problems, and it was temporarily closed.
a. obstacle
b. inspection
c. destitution
d. deflation

5. The first __________________ programs in the US provided help to the widows and children of soldiers who died in war.
a. regulation
b. deflation
c. incentive
d. welfare


II. Word Study

Choose the SYNONYM (=) or ANTONYM (<-->) for each word. 

6. Which of the following is a synonym for implement?
a. propose
b. enact
c. contribute
d. restrict

7. Which of the following is a synonym for subsidizeregulation?
a. employdebate
b. resolveapproach
c. financerule
d. leveragelabor

8. Which of the following is an antonym for radical?
a. risky
b. political
c. evolving
d. conservative

9. Which of the following is an antonym for sustainable?
a. stable
b. rigid
c. impossible
d. unpopular

10. Which of the following is an antonym for assistance?
a. damage
b. disagreement
c. impact
d. income









III. Word Study

Fill in the blanks with the correct word. 

	automated
	civil
	socioeconomic
	eligibility
	obstacle



11. In some US states, people lose their ______________________ to vote if they are convicted of a serious crime.

12. If anyone emails me when I’m on vacation, my work account replies to them with a(n)  ______________________ message.

13. Lack of experience can be a major  ______________________ in job-hunting.

14. Public school teachers are ______________________ servants who are funded by and work for the citizens.

15. The higher a person’s ______________________ status, the longer they tend to live.




IV. Critical-Thinking Skills

Read the excerpts. Underline at least two words that could appeal to readers’ emotions.

16. 
	Unfortunately, even though many people work extremely hard to provide for their families, unexpected events can cause great financial trouble. Economic depressions, for example, leave millions struggling to support their families. Natural disasters have also destroyed many people’s ability to make a living.



17. 
	Innocent students and staff who don’t smoke should not have to endure walking through a cloud of foul-smelling smoke to get in and out of buildings. The university should put an end to this disgusting practice and ban smoking near the entrances of all buildings on campus.



18. 
	Examples of means-tested programs in the US include the earned-income tax credit, which reduces taxes on poor and middle-class families, and Medicare, which provides medical assistance to people over sixty-five and certain younger people with disabilities. Expanding these programs costs less than a UBI, is popular with voters, and provides relief to those in most desperate need. 



19. 
	In many cases, a UBI costs too much to fund without raising taxes or defunding other assistance programs. This is a risky trade-off since losing forms of government help like healthcare could end up ruining just as many lives as a UBI would save.



V. Cloze Test

The debate over universal basic income, or UBI, has heated up recently. Supporters of the idea argue that far too many people suffer from _____(20)_____ and homelessness, and it is the responsibility of society not to let that happen. Most of these people are not unwilling to work— they are victims of bad luck, or they fall ill and cannot afford proper _____(21)____, which is highly expensive in the US. A UBI would be a simpler way of replacing existing welfare programs, and might even cost less. Critics argue that a UBI would not be cheaper or _____(22)_____ in cost to current welfare programs—it would be much more expensive. Even in a(n) _____(23)_____ country like the US, a UBI could take up almost one-third of GDP. Not only that, but _____(24)_____ everyone regardless of whether they work is unfair and could encourage laziness.


	20.
	a. deflation
b. restriction
c. destitution
d. administration

	21.
	a. incentive
b. theory
c. insecurity
d. healthcare 


	22.
	a. equivalent
b. automated
c. regardless
d. radical

	23.
	a. prosperous
b. sustainable
c. nonpartisan
d. civil


	24.
	a. implementing
b. regulating
c. subsidizing
d. glittering
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